Warm Up May 6, 2019
1.) Two functions are shown below:

() = 1/3- (3)* (Y,) @

g(x) =4x +10 (Yz)
What is the largest integer value x such that f(x)<g(x)?

2.) The midpoint of line segment XZ at (-6, -15). The
endpoint X is located at (-18, 2). What are the
coordinates of Z?
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Examplc The table below shows the number of students per computer in
United States public schools for certain school years from 1990 to 2000,

Year 0 & - LD 8 10]

Students per Computer 22 18 14 10 6.1

A. What is the equation for the line of best fit?

y=-1.9X+41.3

B. What is the meaning of the slope?

The number of students per computer decreases by 1.8
every year.
C. What is the meaning of the y-intercept?

(value of y when x = 0 in context)

It was predicted that there would be 21.3 students per
computer in 1990.



The equation y = 37x — 153 models the relationship where

x is the number of carbon atoms, and_y is the boiling point.

Y (=10
a. Whatis theﬁ)lhng p(@or a hydrocarbon with a
@) y= 31(10)=|53

b.  Ifthe\boiling point is 587) how many carbon atoms are

there? \|=
5%_l JI%-153




Five students in Mrs. Straub’s Algebra class reported the number of
hours that they studied for a test. The number of hours and their
test scores are in the table below.

Hours of Study | Test Score

2 85
i3 81
4 88
S 91

6 98
a. Find the equation of the line of best f.t_%i&kﬂﬁﬂ}}' a

at js the meaning of the y-intercept? 'F \NOU S+Ud
" ROGRE ‘OROdICHd SCORY 1§ 13

C. What is the predicted score of a student who studie w

\=3.0(1.5)+ T3
\="19.

D. If a student emﬁed E@? on the test, pased on the line of best fit,
how many hours did they studv

17=8.bxt1%Q
—14Q -1

Q.8=3.hx
3.0




4. The Jones’ average phone bills in the years 1999 to 2006 are
displayed in the table below.

. 0 I 3 8 % §5§ W 1
Year wawwwwww

Average $65 | $65 $68 $72 $70 $73 $78 $82
Monthly Bill\

a. Whalt is the line of best fit?qfﬁ|3§xj—_%. l‘l‘&

b. According to the line of best fit for the data, approximately

wesuch per month would the Jones’ pay in $ %q_ 5“
20087_) .

&og_sgmq Y=4.35@@)+03.49

C. What is the meaning of the slope?

The average monthly bill increases by $2.35 every year.



5. The table shows the average hourly earnings in the US production
workers for selected years.

o 5 10 |5 aoasso 35301

Year X |19607| 1965 | 1976|1975

Earnmgs\' 2,09 246 |3.23 |4.53 |6.66 857 1001 1143 132

/
a. Find the regression equation(line of best fit): "'-_D_.Q)_Xj:.qa

b. What is the slope? 1_ O

The average hourly earnings
c. What is the meaning of the slope?_increases by $0.30 every year.

d. What is the y-intercept?__| . s ]
n 1960, the predicted

e. What is the meaning of the y-intercept? average hourly earnings is
$0.92.

f. According to the regressmn equation what will be the $ IS q&
avera[t);e hourly earnings in the year 20107___ . NIV

Q010-{90 0.3(30)+.
U R EORER

g. Identify the correlation coefficient. 1\ q q

h. Describe the correlation. S-_I_Bm S_-" LV 1))
weaX %ﬁ[m
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Calories
Burned
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